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Instructions:  

• There are two sections that you need to attempt. 1) Section- A (Common for All) and 2) Program specific section 

• Each section has 50 questions each.  

• First section, Section A is mandatory for all. This section has 50 questions on General Aptitude. 

• Second section, Program specific section also has 50 questions.  

• Attempting both the sections is mandatory.  

• There is no negative marking. 

• Each question carries 1 mark each. 

• The total time given to a candidate is 90 minutes for completion of 100 questions i.e. for completing both the 

sections i.e. Section A and Program specific section. 
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English 

Identify the following Parts of Speech  

1. Do or Die 

a) noun 

b) preposition 

c)  conjunction 

d) Adverb 

2. He is in the playground. 

a) Conjunction 

b)  Adverb 

c)  Adjective 

d)  Preposition 

 

3. He speaks English fluently  

a) noun 

b)  adverb 

c)  Conjunction 

d)  Adjective 

 

4. Alas! I lost my purse. 

a)  Interjection 

b)  Adjective 

c)  Conjunction 

d)  Noun 

5. The poor girl cried bitterly. 

a)  Adjective 

b)  Adverb 

c)  Conjunction 

d)  verb 

6. Sugar tastes sweet. 

a. Verb 

b.  Noun 
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c.  Adverb 

d.  Adjective 

7. Fill in the blanks:  

I … working here for two years. 

 

a) Have been  

b) Have worked 

c) Am working 

d) Was working 

8. Fill in the blanks:  

 

As soon as the doctor .…, I will take medicine. 

a) Will come 

b) Comes 

c) Is coming 

d) Will be coming 

 

9. Fill in the blanks:  I will start working, after the boss……. 

a) Will order  

b) Orders 

c) Is ordering  

d) Will be ordering 

10. Fill in the blanks:  Fashion is important to Shyam, so he always………… the latest and most popular poaching 

style. 

a) has selected 

b)  be selected 

c)  Selected 

d)  Selects 

 

11. Fill in the blanks:   She once …………. a purple  coloured pantsuit, which clashed with her orange “I Love 

Motorcycles” tattoo. 

a)  Purchased 
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b) Purchase 

c)  has purchased 

d) Purchases 

12. Fill in the blanks: ……………….. I get a cup of tea for you? 

a)  Shall 

b)  Am 

c)  Will 

d)  Do 

Quantitative Aptitude 

13. If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more. The actual distance 

travelled by him is: 

A. 50 km 

B. 56 km 

C. 70 km 

D. 80 km 

14. A train can travel 50% faster than a car. Both start from point A at the same time and reach point B 75 kms 

away from A at the same time. On the way, however, the train lost about 12.5 minutes while stopping at the 

stations. The speed of the car is: 

A. 100 kmph 

B. 110 kmph 

C. 120 kmph 

D. 130 kmph 

15. Excluding stoppages, the speed of a bus is 54 kmph and including stoppages, it is 45 kmph. For how many 

minutes does the bus stop per hour? 

A. 9 

B. 10 

C. 12 
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D. 20 

16. A, B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can A do the work if 

he is assisted by B and C on every third day? 

A. 12 days 

B. 15 days 

C. 16 days 

D. 18 days 

17. A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for Rs. 3200. With 

the help of C, they completed the work in 3 days. How much is to be paid to C? 

A. Rs. 375 

B. Rs. 400 

C. Rs. 600 

D. Rs. 800 

18. . A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive months. How 

much sale must he have in the sixth month so that he gets an average sale of Rs. 6500? 

A. Rs. 4991 

B. Rs. 5991 

C. Rs. 6001 

D. Rs. 6991 

19. The average of 20 numbers is zero. Of them, at the most, how many may be greater than zero? 

A. 0 

B. 1 

C. 10 

D. 19 

20. The  cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, then the value of 

x is: 
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A. 15 

B. 16 

C. 18 

D. 25 

21. In a certain store, the profit is 320% of the cost. If the cost increases by 25% but the selling price remains 

constant, approximately what percentage of the selling price is the profit? 

A. 30% 

B. 70% 

C. 100% 

D. 250% 

22. A vendor bought toffees at 6 for a rupee. How many for a rupee must he sell to gain 20%? 

A. 3 

B. 4 

C. 5 

D. 6 

23. A person crosses a 600 m long street in 5 minutes. What is his speed in km per hour? 

A. 3.6 

B. 7.2 

C. 8.4 

D. 10 

24. An aero plane covers a certain distance at a speed of 240 kmph in 5 hours. To cover the same distance in  1
2

3
  

hours, it must travel at a speed of: 

A. 300 kmph 

B. 360 kmph 

C. 600 kmph 
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D.  720 kmph 

25. A man purchased a cow for Rs. 3000 and sold it the same day for Rs. 3600, allowing the buyer a credit of 2 

years. If the rate of interest be 10% per annum, then the man has a gain of: 

A. 0% 

B. 5% 

C. 7.5% 

D. 10% 

Logical Reasoning 

Directions (questions 26-28): Read the following information carefully and choose the most appropriate option:  

A and B are good in driving bus and car.  

C and A are good in driving car and scooter.  

C and D and are good in driving scooter and tractor.  

E and C are good in driving scooter and auto rickshaw.  

D and B are good in driving bus and tractor.  

26. Who is good in driving scooter, tractor and auto rickshaw but not good in driving car? 

 (a)  A  

 (b)  E 

 (c)  D   

(d)  C  

27. Who is good in driving scooter, tractor and bus?  

(a)  C  

 (b)  D 

(c)  B   

(d)  A  

28. Who is good in driving tractor, scooter, car and auto rickshaw but not bus? 

 (a)  C   

(b)  D  

(c)  B 
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(d)  A  

Directions (questions 29-31): Read the following information carefully and choose the most appropriate option:  

In each question, there is a statement and two assumptions numbered as I and II. 

Read the statement and find which of the given assumptions is implicit: 

 (A)  If assumption I is implicit. 

 (B)  If assumption II is implicit. 

 (C)  If neither assumption I nor Assumption II is implicit.  

(D)  If both Assumption I and Assumption II are implicit. 

29. Statement: The next meeting of the executive board of a company will be held after six months.  

Assumptions:  

I.  Existing executive board will be dissolved before six months.  

II.  The company will remain in function after six months. 

(a)  Neither assumption I nor Assumption II is implicit.  

(b)  Assumption II is implicit. 

(c)  Both Assumption I and Assumption II are implicit.  

(d)  Assumption I is implicit.  

30. Statement: In the Country of Zuminisia, people prefer to travel by X airline instead of Y airline, as X airline has 

advanced German security system and 99% on time operations. Assumptions:  

I. Airline X with advanced German security system and record on time operation is perceived better than airline 

Y. 

II. Had advanced German security system and on time performance record of Y airline been implemented, it 

would have been preferred over airline X. 

(a)  Assumption I is implicit.  

(b)  Neither assumption I nor Assumption II is implicit.  

(c)  Assumption II is implicit.  

(d)  Both Assumption I and Assumption II are implicit.  

31. Statement: To attend a convocation ceremony scheduled to be held on Thursday at GM University, Chennai, Mr X 

left for Chennai on Tuesday by train.  

Assumptions:  

I.  Mr X may reach home on Saturday 
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II.  Mr X may reach the University on Wednesday  

(a)  Assumption I is implicit.  

(b)  Assumption II is implicit.  

(c)  Both Assumption I and Assumption II are implicit. 

(d)  Neither assumption I nor Assumption II is implicit. 

 

 

Directions (questions 32-38): Choose the most appropriate option: 

 

 

32. Identify the statement which cannot be false.  

(a)  Democracy is the best form of government.  

(b)  Water evaporates at 100° C.  

(c)  All radii of any given circle are of equal length. 

 (d)  Myopia is a congenital disorder.  

33. An old woman decided to divide her gold among her daughter and daughters-in-law. She first kept exactly half of 

the gold for her daughter. Then she divided the rest of her gold among her daughters- in-law. The eldest one got 

26 grams more than the youngest daughter-in-law. The middle one got twice as the youngest one. If the eldest 

daughter-in-law got 66 grams of gold, how much was received by the daughter?  

(a)  198 grams   

(b)  172 grams  

(c)  186 grams   

(d)  194 grams 

34. Find the odd one out from the following group.  

WINDSHIELD, SPARK PLUG, CLUTCH PEDAL, CAR, ENGINE  

(a)  Car  

 (b)  Engine  

(c)  Windshield   

(d)  Spark Plug  

35. Four statements are given below. Group two of them in such a way that one is logically incorrect and the other is 

verifiable as a matter of fact  

a.  The Sun does not rise in the East.  



                               
SAMPLE QUESTION PAPER FOR GLOCAL SCHOLARSHIP TEST-2020 

SECTION-A; MANDATORY PAPER FOR ALL  

 
 

b.  A straight line is the shortest distance between any two points.  

c.  Every circle has a centre. 

d.  The maximum duration of a total solar eclipse is about 7.5 minutes 

(a)  [a, c]   

(b)  [c, d] 

(c)  [a, d]   

(d)  [a, b] 

36. This question consists of a related pair of words, followed by four pairs of words. Choose the pair that best 

represents a similar relations hip as the one expressed in the given pair of words:  

SANDERLING : BIRD  

(a)  Mastiff: Dog  

(b)  Cat : Mare 

 (c)  Frog : Toad 

 (d)  Water : Fish 

37. From among the given options, identify the statement which means the same as the statement ‘The dual nature of 

light is an enigma’. 

 (a)  Two contradictory descriptions of light presuppose a third description. 

 (b)  Light has distinct properties which makes it unique.  

(c)  Light is mysterious. 

 (d)  The nature of light is an enigma. 

38. Which word in the following group does not belong to the others?  

PROSPER, EXCITE, THRIVE, FLOURISH  

(a)  Prosper   

(b)  Excite  

(c)  Flourish  

 d)  Thrive  

 

General Awareness 

39. The ratio of width of our National flag to its length is 

A. 3:5 

B. 2:3 
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C. 2:4 

D. 3:4 

40. 'Natya - Shastra' the main source of India's classical dances was written by 

A. Nara Muni 

B. Bharat Muni 

C. Abhinav Gupt 

D. Tandu Muni 

41. 'Dandia' is a popular dance of 

A. Punjab 

B. Gujarat 

C. Tamil Nadu 

D. Maharashtra 

42. The words 'Satyameva Jayate' inscribed below the base plate of the emblem of India are taken from 

A. Rigveda 

B. Satpath Brahmana 

C. Mundak Upanishad 

D. Ramayana 

43. The prestigious Ramon Magsaysay Award was conferred was conferred upon Ms. Kiran Bedi for her excellent 

contribution to which of the following fields? 

A. Literature 

B. Community Welfare 

C. Government Service 

D. Journalism 

44. Which of the following place of Punjab is connected through Kartarpur Corridor? 

a. Hoshiarpur 

b. Gurdaspur 

c. Amritsar 

d. Nawanshahr 

45. The Maratha and The Kesri were the two main newspapers which were started by the following people? 

A. Lala Lajpat Rai 

B. Gopal Krishna Gokhale 

C. Bal Gangadhar Tilak 
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D. Madan Mohan Malviya 

46. When did the World Trade Organization come into existence? 

A. 1992 

B. 1993 

C. 1994 

D. 1995 

47.  In which year did the Cabinet Mission arrived in India? 

A. 1942 

B. 1943 

C. 1945 

D. 1946 

48.  Which state has the largest population? 

A. Uttar Pradesh 

B. Maharastra 

C. Bihar 

D. Andhra Pradesh 

49.  Who launched information booklet "Safe online learning in the times of COVID-19" digitally to raise awareness to 

students and teachers about online safety & ensure timely action in cases of cyberbullying in New Delhi? 

A. Ramesh Pokhriyal Nishank 

B. Narendra Singh Tomar 

C. Thaawar Chand Gehlot 

D. Nitin Jairam Gadkari 

 

50. Where is the High Court of Odisha situated? 

A. Puri 

B. Cuttack 

C. Ranchi 

D. None of the above    


